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Pk 3: BB MEBK mod AR

%TANK MG (Two Agents New Keynesian Model with Money Growth Rule)

var y n omega pip piw z detam;

varexo epsm,

parameters alpha beta epsilon sigma phi nu rhom;
parameters is pips s ys;

parameters D thetao thetad theta;

parameters Theta eta Phi con;

alpha = 0.50;
beta = 0.99;
epsilon = 4.30;
sigma = 3.40;
phi=1.00;

nu = 1.00;
rhom = 0.65;

is =0.0101;
pips =0.0000;
rs=0.0101;
ys =3.35;

%% 7% 1 L EDHLE0.15/0.30/0.60
D =0.15;

thetao = 0.6310;

thetad =0.0000;

theta = D*thetad+(1-D)*thetao;

Theta = (1-theta)*(1-beta*theta)/(theta*(1+epsilon*phi));
eta =1/(nu*is);

Phi = (log(is)-1)/nu;

con = eta*rs+Phi -(sigma/nu)*ys;

model(linear);

Yo AU BT T BRI

%3 (6)

7= z(-1)- pip + detam;

%3 (7)

detam = (1-rhom)*pips + rhom*detam(-1) + epsm;
%5 e (13)

y =(1-alpha)*n;

Y% 25 7 FE(15)

piw = beta*piw(+1) + Theta*((alpha+phi)/(1-alpha)+sigma)*y;
% ok 7 R TTHE(18)

(sigma*etat+sigma/nu)*y = eta*sigma*y(+1) + eta*pip(+1) + z + con;
YolB kI 5 7 22K (19)

piw + alpha/(1-alpha)*y - pip = alpha/(1-alpha)*y(-1);

%S R LBk 1 7E X

omega = -alpha*n;

end;

shocks;
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var epsm =1"2;
end;
stoch_simul(periods=1000, order=1, irf=40);
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B3% 5: UG BL B TBUK mod SCHIRARED

%TANK IR (Two Agents New Keynesian Model with Interest Rate Rule)
var y n omega pip piw i ¢;

varexo epse;

parameters alpha beta epsilon sigma phinu rhoe phip;

parameters is pips s ys;

parameters thetao thetad theta D;

parameters Theta eta Phi;

alpha = 0.50;
beta = 0.99;
epsilon = 4.30;
sigma = 3.40;
phi = 1.00;

nu = 1.00;
rhoe = 0.40;
phip =1.94;

is =0.0101;
pips =0.0000;
rs =0.0101;
ys = 3.35;

%K% T H E DR HL{E0.15/0.30/0.60
D =0.15;

thetao = 0.6310;

thetad =0.0000;

theta = D*thetad+(1-D)*thetao;

Theta = (1-theta)*(1-beta*theta)/(theta*(1+epsilon*phi));
eta =1/(nu*is);

Phi = (log(is)-1)/nu;

model(linear);
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Yoli % AU L T USRI

%7(8)

i=rs + pips + phip*(pip-pips)+ e;

%7(9)

e = rhoe*e(-1) - epse;

%5 e (13)

y =(1-alpha)*n;

Y% 25 7 FE(15)

piw = beta*piw(+1) + Theta*((alpha+phi)/(1-alpha)+sigma)*y;
%N ASIS T2 (16)

y = y(+1) -(1/sigma)*(i-pip(+1)-rs);

Yol i Ik R T FEE(19)

piw + alpha/(1-alpha)*y - pip = alpha/(1-alpha)*y(-1);
%R LBk 1 7E X

omega = -alpha*n;

end;

shocks;

var epse =12;

end;

stoch_simul(periods=1000, order=1, irf=40);



